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1. How many dingonals does o quadrilateral have?
2. In the quadrilateral ABCD, name the following

(a) Vertices

(b) Angles .
(¢) Pairs of opposite sides (d) Diagonals e
3. Observe the following quadrilaterals and name them :

{a)

(b)
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4, Name the quadrilateral which has just one pair of pnrnllel uidu
5. Name the quadrilateral whose two equal diagonals are perpendicular to each other.

6. Say true or false

(a) Every rectangle is a parallelogram.

(b) The dingonals of a parallelogram arc equal.

(¢) The dingonals of a rhombus are equal and bisect each other at right angles.
(d) Every parallelogmm is o rhombus.

() In u trapezium a pair of opposite sides are parallel.
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I. How many diagonals docs ouch of (26 ¥ (ili) A heptagon .
" (i) A rangle (i) A pentagon |
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| 2. Find the sum of the angles of a polygon of : |
(i) 5 sides (ii) 6 sides (iii) B sides {iv) 16 sides |
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4. Find the angle measure x in the following figures :
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- & Find the number of sides of o polygon, the sum of whose interior angle is
() 720° (i) 16207 {iii) 10 right angles
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»(2n-4) = Qoo - lo

90
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(i) pentagon (ii) hexagon (iif) decagon
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8. Find the measures of cach exterior angle of a regular polygon having :
(i) B sides (ii) 9 sides (iii) 12 sides
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9. Find the number of sides of
N 45° u regular polygon each of whose exteri
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10. How many sides docs a sagulay polygon have, if each of its interior angles is :
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12. lIs il possible to have a regular polygon with measure of each exterior angle as 257 [ wrts]
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2. How many angles of » concave quadrilaternl are greater than 18077 Show by figure.
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). How man
y angles of a concave quadrilateral can be greater than 90°7
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4. Is it possible that all the angles of a quadrilateral are acute? Explain why?
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7. Sum of two angles of a quadrilnteral is 180°, What can you suy about the other (wo angles?
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hisectors of ZADC and

(0. In the given figure, DO and €U are the
/BCD respectively. If ZADC = £BCD = 60" and £DAB = 100, "
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EXERCISE 12.3
1. (i) In a quadrilateral, opposite sides are equal and one angle is five times the other adjacent angle.

What is the figure called?

(ii) In the above quadrilateral, if"all the sides are equal, what will it be called?

Q) The ﬂﬁa«um 1S anﬂﬂﬁﬂtafﬁm
CU) MLMTJ\,-:_EL «-F:JJJ—\JL 1S Whoembua .

2. If one angle of u paralielogram is 105%, find the other three angles and the ratio between the four
nngles.
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